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145 1)

Oétovpe x=y=0

f(x+y)=f(x)+f(y) = f(0+0)=f(0)+f(0)=2f(0)=f(0)=
:>f(0)=0

Oétovpe 6mov y 0 — X

f(x+y)=Ff(x)+f(y) = f(x=x)=f(x)+f(-x) =

£(0)=0

=f(0)=Ff(x)+f(—x) = f(x)+f(—x)=0=F(—x)=—F(x) yw x60e xeR
Apa 1 feivar epirm

145 2)

O¢tovpe x=y=0

f(x+y)+f(y-x)=5f(x)-F(y) = £(0+0)+f(0-0)=5F(0)-f(0)=

£(0)20

= 5f(0)-2f (0)=0=f(0)[5f (0)-2]= O:>5f(0)—2=0:>f(0):§

Oétovpe omo y=0 f( =

f(x+y)+f(y—-x)=5f(x)-f(y) =  f(x)+f(-x)=5f(x)-f(0) =

:>f(x)+f(—x):5f(x)-%:>f(x)+f(—x)=2f(x):>f(—x):f(x)
1.45 3)

f(x+y)+f(x—y)=2[f(x)+f(y)] :n>
=f(0+0)+f(0-0)=2[f(0)+f(0) = 2f (0)=4f (0)=2f (0)=0=f(0)=0

OéTovpe x=0

f(x+y)+f(x-y)=2[f(x)+f(y)] =

:>f(0+y)+f(0—y):2[f(0)+f(y)]fmz);of(y)+f(—y):2f (y)=
=f(-y)=Ff(y) na«abeyeR

Apa 1 feivar aptia

145  4)
F(x,4%,)=F (%) F(x,) = £(0+0)=F(0)-F(0)=F(0)=F(0)
=£2(0)-f(0)=0=f(0)[ f(0)-1]= 0(:)>f(0)—1=0:>f(0):1
Fx+%,)=F()F(x) = (xex)=F(x)-F(x) =

£(0)=1

f(0)=F(x)-f(—x) = f(x)-f(—x) =1,y kG0e xeR

Amd 10 B) epdOTUA EYOVUE



B)

f(x)-f(—x)=1= |f(-x)= (1) yo kd0e xeR

(1).(2)=|f (f (x)) =f(x)| yia ke X € R omdTe MPOPaVEOS Kat

f(f(y))=f(y) noxébe yeR

Emopévag
f(x+y)=f(f(x))+f(f(y)) = f(x+y)=F(x)+f(y)

Oétovpe O6mov y 0 — X

f(x+y)=Ff(x)+f(y) = f(x=x)=f(x)+f(-x) =

=0

=f(0)=f(x)+f (—x)fg f(X)+f(—x)=0=f(—x)=—f(X) ya ka0e xeR

Apa 1 feivar meprr



